MA V2V — 00 |
éwau.j /MMLQ

. Ao QQ.M_.O W%Al—) @’Q'LO";‘L
£ \u./_bw_ >/io aA 800 wn



MA.\;C/W\‘M/ SADDLE POINT

Fo R %C;’i’_io .
) ,tmot tb j)n —b:c% 1995 ’%“3 .
3.) D Test 224 peniv -regr> Cab '})U' o

. :1?2 k CHYE gﬁ,b)#[#giﬁl

&) D>O * ,;,LCa.)b>-<.O/_\\
—:i? Ca) %ﬁg\&) “o <MA%

—
. ‘,.%D >0 ¢
Lox

x,ch.)b)>o
«) a4 DO —=(a b b(;a m)

»

A ) .LﬁDD'-“-O — TEST FAILS







N gl
) E Ay A2 ST

) obw"g' :Bi) })“) b"“ /zbwﬂ /ﬁw )"}“ |
Eb‘ﬂ_:;b""“\:] 2\(4—\(9—720

= X+ k‘t\lj] ?(+% -0
L%ia,’-z Jjj-;dr W |

v

-1=0 2 ‘j
2y +y” 17 (4 LE
—9 —\-3“ - joo&
l’)—_ :‘7) ﬁcq)_.)..
—_'_‘—‘_- 3 _ %
w= —ty= G(~)=4




3 ) D-TEST !

[ 4

e,

- {)&QLEQ | %59(‘%") ’%‘i@lﬂ}



RELATIVE way:

ve maximum

Relati
- / = f(a, b)

Graph of f

RELATIVE wWmInN!

Graph of f

5 [}
Relative minimurm

= f(a.b)




=ADDLE POINT

fla, b) =

fix,b) has a
minimum

‘

fla, y) has a
maximum




MAT2\~ 60 |

TEST 4y RESUL LTS

l
AS _]S ((-IO,SC70>
| — 68.120
B's SI (o)

cis EQ_L\' (ll.‘i%o)

|
D's _lb_ (&b%)?g 19.9%

F,S [Ci Clo.Ba?o)

ANE | @144

-—-—'__-_—




